Brihan Mumbai Ganit Adhyapak Mandal, M umbai

s[gedIg aforer sreTaeh Heas, 598
Mathematics Quiz Contest 2019-20

Trforer wyeTHGqET wet - R0%%-R°
First Round (ﬁ@ﬂ'ﬁm - ufgelt til)

Written Test -
Date : 22-09-2019

Maximum Marks : 50

Time : 1 hour _ )
d. VI & VII

¥ 17w St ¢ gyt 7T 2 50

Instructions 1)  Each question carries 2 Marks.

2 Answers should be written with Pen.

3)  Cancelled and overwritten answer will not be considered. '
4)  Answer should be written in box provided in front of each question.

5)  Write the proper unit of measurement, where necessary.
T : 1) e Tg=TaT 2 TOT TR,
2) Swt vy foerEid.

3)
4 v weTgR fadrear At Iwe fagreta.

5 sTavaE S A% W Y AT,

Name of the Student: 1)
fagreata 71 :2)
(In Block Letters)

Name of the School :

e TS
Code No. of the Group : Mobile No.
TeTaT Hichiaa sadie HOTEA ShHieh :

1. Convert zﬁz into decimal fraction.

4 L -~ . .
77 T ZAgUTichTd GYTYNd ®dral <all.

2. Find digit at the place of % in the number 32% 4 if this number is
divisible by 12. Write all possible digits. '
305 4 TIT G K ST AT HIUTAT Sieh STHAT AR UTAT WA

12 Jgut arr g, (Wd stem ferer.)

3. Find the 2 consecutive trangular numbers whose sum is 121.

121 6 wrear T @ Frentuft drer T e & e

4, Simplify Hrear:
12-[13-{9+10 + (7-2)}]

P.T.O.

Scanned by CamScanner



10.

11.

[ A

13.

Find the smallest number having 5 divisors. —_—
TTer fWTTeR SR SR TETT WEAT 0T ? —
Simplify : wrgar :

(1.5 x 49 x 3.6 RE——

0.6x0.5x0.07 x 42

In how many years will a sum of money triple itself at the rate12.5% per annum ?
12.5% T yget frwe gloary fenedt and wmmdier?

Find the largest five digit number which is divisible by all odd numbers between 6 to 16,

e Sfent Irvft Mg WY WEAT yirar aht &1 T 6 o 16 Tefter g

Each of the two equal angles of an isosceles triangle is half of the third angle.
Find the angles of the triangle.

TShT FHigYT R 19 WHIA shiFitent W hi fag=ar shamsar
=T R erRe; WX fa=gt st Wy w2

Find the value of : Téhaa =Ter.
1
(%)’
30

Divide Rs. 3010 among A, B, C in such a way that A gets double of what B gets
and B gets double of what C gets. Find the share of A.

3010 ¥TT A, B, C = foaiwey sy areTant , Bearqu@e Ao
Cgwe B = fuzsdier. aT A= feardt wu fiassditer ?

Perimeter of the square is 64 cm. what should be the maximum length of
the rectangle having the same perimeter ?
(length is a natural number.)

TehT ArATET Uit 64 Anit onR. faraanter afidiet srasrear
SATIATT AT AR vt femet 2 (it Safiter dear o)

The denominator of a fraction is 3 more than the numerator.

If 2 is added to the numerator and 5 is added to the denominator
the fraction becomes % Find the fraction.

mawﬁsm@am&&n3%ﬁmm.wﬁm¥ﬁ”2ﬁaaﬁ
MUT B 5 Tresferet a¢ srquitenTsit el 3 B
T " SquTfeR shiuTar ?

aDis
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14.

15,

16.

17.

18.

19.

20.

Whatis the value of x ?  x =Y febvwrey fomety 2

N X .13
1+ 12

144 =

A car covers a certain distance in 40 minutes if it runs at 54 km./hr.
How much time will it take to cover the same distance at a speed of 45 km./hrs.
Teh HITH ShTET SHAT AT9T 54 1t Sy 40 ferfrarer are .
A AT ST a9 45 ooy, AN ey femedt S AT ?

If shopkeeper sold calculator for Rs. 455, there is a loss of 9%.
If he sells it for Rs. 555. Will there be loss or profit ?
What is the percentage ?

TahT THTIGR 455 TAAH Ueh AMHIOT FHeragaiet fashar.
AT 9% AT SATAT. ST 555 TUITH Teh HHTUT Shetaee T faeheil STHar 9¢ Srer
vreheT fohdt dreT favar ST e st 2

In given diagram mZPRS = (3x + 20)°

Find mZPQR.

I . Teciem s maPRS = (3x + 20)°
Q=== R s~ ®CmZPQR =?

Ashok started his journey at 8:15 a.m. and reached the destination at 1:30 p.m.
If he has taken % hr. break, How long was he actual travelling ?
STEIh - WERTST 8:15 T STYAT W G Shetr ST gUHY 1:30 arrar
r gfeod i dréraer. aRa @ L A Rt S,

WA Ay Tomedt O war Shar 2

The average weight of 45 girls in the class is 37 ka.

If the teacher is included the average weight becomes 37.5 kg.
Find the weight of the teacher ?

TehT aTidier 45 Yeftsr e a<i 37 foneiiw e, = ey e ant et
TOHRL A 37,5 foheiie 2. o frerenmsr awi Ry 2

A D In the given diagram ABCD is a rectangle.
Calculate the cost of fancing of the plot at
12m the rate 18 Rs. per meter.

ﬁﬁwmABCmewmwﬁa

am C om £ SrOfEcearieT 18 %, Weammm ghaur arerara
Tordt @t Adet 2

-8 (P.T.0)
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21,

22.

23.

24.

25.

3 books and 2 magazines cost Rs. 168, 3 comics and 2 magazines cost Rs. 108

The total cost of 2 comics and 2 books is Rs. 104. :

What is the cost of one maganine ?

3 g%Teh 2 Wifenten fire fehma 168 SO o1Te. 3 hifaer F S 2 AifaehT= fiesT fehmw

108 =9, 2 ey T G Geaehieh firesT fhTe 104 w0 o112, T UehT AIfHehT fehma
ferdt ?

Find each interior angle of regular polygon having 36 sides.

36 TN AHAIT GO TgHATHAET Hedieh SATa{eh I fehdt SigTrer S ?

Father’s age is 3 times the age of his son. After 3 years the sum of their ages will be 62.

Find the present age of the father.

afserier a7 gerrear aar=ar fawe ene. 7 gui=ac Sraisar aaret 30w 62 ™.
T afSeria o< a9 fandt ?

How much metal sheet is required to make a closed rectangular water tank of

length 15.5 m., breadth 12.2 m. and height 13.3 m. ?

TehT STEanTlordT SITeRTT=AT STeht=it Siet 15.5 m., 2T 12,2 m. & S<t 13.3 m. ST,
3197 TTeht TATSUATATST Rl USIT S IeT 2

22 cm. copper wire is bent to form a circle

Then what is the radius of that circle ?

22 Y. STietear TRUTYH Ueh ages ) Shot a¥ T agesTent frea fandt 2

33888
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